19 'on prn ,npronnnn 772 119y - 073w

e e it

=221

“Farey NNTO” IWINNT NN

H02aR HRINY i nRn
n9°n 91731500

hrn "Farey n177o' owa 1721yn1 nrpn Anxn odqshn 18 'on prn ,0raawa

_ A .hpla nnhs

N73¥p1180) ¢(n) N73¥P197 H150Y NG hnisn ,TAR VBYE Q2?o1aY 71¥9 79 AR
.07199001 01102 N72IURY 1Yatwn nbya R aw L, (M9 7IR Y

12500 N 0%921Y WRD ,Farey n7705 020011010 0?7800 fAnd  :hYRYA hDRYA
:N19hR 0v9na ?n nasnd n-l

?Fn_l 2 0792781 7800 1725 F, 2 07927RAD 90D 172 wasAn 1n

On7a5nY 07p¥NIND 02773V P9 901100Y 07213° AT 93ayna 75 aban 5p ninva
N30 yv5inY A7h 9 ,n B vP 1ha5nY »F, 2 ¥rnn 1w 55 75 ,n
.OnTIp NMT70a

oaIR LBIR 11N o ohraony E_ 77701 n708n1¥0h 077200 00 129R
:n17hR 075902 IR .n nabonh oy,1 »n 517a,30190 pAhn 17K Dh71I05W D292vh
.0 Nadnh 03T on7ainw 07iavh



07950nh “9on> nw »F 5 Fn-l n 72yna D25011000 DY92WA 80HY aphan
. #(n) 5 995 7773 wION AT BN 1Y 07T n N D2avPh D?779avA
(08NN oR Saph Y513 I8on
0.1
GT 1 ia 2 R0 Fl -3 p?92780N Y8bn
n
k;2¢(k) +2 xR ,n>1 T ,Fn -2 D792?RN 790N

2 R Fp 2 0792%RA 100D :0a1Th
©(2) +2 =142 =3 X1 F, 2 07727Rh 1900
- ©(2) + ©(3) + 2 =1+2+2 =5 R F; 2 07727Rd 1000
K11 F, 2 07727Ri M900
©(2) + ©(3) + P(4) + 2 = 1424242 = 7

170000 1T - 2 190D 1D

72590 DNNAR (RN
VD nx?y 110n ,DyTnn an1ﬂ5 nPonnn

$ORYN AY?81n ,18 tom prn Yy qv5 ,0733W 72awa

. ?
a,a,a,a,a.a.a,a.a, :011M90 9 73 a8bn §rash

ay 0,1 59%1 a; # By s i #3 555 »5 n27pnn

Ja 10t v, 10™ e L a WML aE,... A :10700)

.n a pbnan a,8,0008 1 <n<9 555 75 9177 R 99bnn ok R¥n (R
?97h? nt 9on orkn (A

m 2 pohan a ...a,a; 1 <n <9 53% 33 p¥TY bR sonn w4

2



<07 MwaRA 95 nRpTTARY nIpbhna 7anrda qTYA L 150Y Yy¥Inh J19nan

,9 2v nY195 Ak 9 R1n M9on Y n1obh 015D bDR"
0r7phn AT dapbnhn o .9 a2 phhnn 19bnh TTN
. 119090 nhnanb vibrr arnon 12781 L1359 hapna

wnh 155  .07%x17 n1'nd 0%3% N ag 1 as ,an ,ax
JRI7TAT-9R NA72A0 D190130 D1abh

as = 5 077pnnY 779 ,5 2 phhnY ai...as5 W 7D
.(a.1 # 0 115979)

2770 asay ,4 3 pPYhanY 79N @l.e..ar YW 111700
az Yar . (4 a2 nipbnhh o) 4 5w ndbyas nyvrnd
L6 IR 2 n7nr oay 1991 TAIT-IR RIN

.3 21 2 2 phhn? RIN OR P OR 6 2 PHANY aj...ae
:3 a mapbnnn pitab 1ab ana L2 a ﬁapbnnn 13pTa
PYNN? asasas 0A ,3 2 PONNN aidzas ¥ 11175
.654 IR 258 nrh? ajasag 1991 .3 2

111751 . agasag = 258 N1IWORN OX P1TAl

8 2 pbnn aeazas ,8 2 PHNNNY 1IN a1...48 ¥
nR PTab 1apIrk Rran at o . (8 2 napbhnn o)
x50 n1vioon 21873 900 5 800 172 mabvison Yo
.896 1 816 :n171MWAR 7AW 1ANAR D7a%7 nDAanTRON

259 DANYA DY719YSRA D5 npvTa L, 1IURAn napna
75 Hapa 2awh papna .3 2 pOhnn 137K ajazas

q93y5 RI1P5 vOnIn) .7 2 PHRNN 11R d1...a7

1595 . (xah a%wan atn 2bwa ,miriaworn b5 Ly

aydsadeg = 654

« 1

I aRT hwyy (R

-7R) 7217 1
ai<:: (72217

(7297-72R) 7217
—

ag =5
&, = 2

IR
a, = 6

ayagag = 258
DR
agagag = 654

a,a.a. = 654



.6 07yba va19Y 725nnn Yy 997ha . ayasag = 654 .7
D77pnY TR 1900 pPa 275709 9511 25 ayTh hoirra :N1D nNoonn
RN L,NT 801 .0YWRPIABN BIRINN DR 381654729

TIN70 1370 1ARYDY M80nA 75 hapond 1amIR no*YIn odnh oRyn 9T (A
LUTAN AR B27pnn

5und 75 ;nTS 196N 27590Y Jhra kY (A
2790 a1 , as...41 NIPNA IR, TAIT N17hd 2730 ay , aza; Y ATpna
.(ai #0) 5 arvnd

19 'on prn ,npronnnn 202 112y - 03V



